Thousand Tabanan 22 2022 11-10 414

Exercise 4.2 Let
$$X$$
 and Y be sets. Define the projections

$$\pi_1: X \times Y \to X \text{ and } \pi_2: X \times Y \to Y$$
by taking $\pi_1(a,b) = a$ and $\pi_2(a,b) = b$ for $(a,b) \in X \times Y$.

Let Z be a set and $f: Z \to X$ and $g: Z \to Y$. Show that there is a unique function $h: Z \to X \times Y$ such that $\pi_1: \{a,b\} = g$.

Existence:

$$\pi_1 = \{a,b\} =$$

$$\pi_{i}.k_{(E)} = \pi_{i}(\chi_{k}, y_{k}) = \chi_{k} = f_{(E,i)}$$
 $\pi_{i}.k_{(E)} = \pi_{i}(\chi_{k}, y_{k}) = \underline{\chi_{k}} = f_{(E,i)}$
 $\pi_{i}.k_{(E)} = \pi_{i}(\chi_{k}, y_{k}) = \underline{\chi_{k}} = f_{(E,i)}$

Disjoint union

Frequently we want to join sets together but, in a way which, unlike union, does not identify the same element when it comes from different sets. We do this by making copies of the elements so that when they are copies from different sets they are forced to be distinct:

$$X_1 \uplus X_2 \uplus \cdots \uplus X_n = (\{1\} \times X_1) \cup (\{2\} \times X_2) \cup \cdots \cup (\{n\} \times X_n).$$

In particular, for $X \uplus Y$ the copies $(\{1\} \times X)$ and $(\{2\} \times Y)$ have to be disjoint, in the sense that

$$(\{1\} \times X) \cap (\{2\} \times Y) = \emptyset$$
,

because any common element would be a pair with first element both equal to 1 and 2, clearly impossible.

Exercise 4.3 Let X and Y be sets. Define the injections

$$inj_1:X\to X\uplus Y$$
 and $inj_2:Y\to X\uplus Y$

by taking $inj_1(a)=(1,a)$ for $a\in X$, and $inj_2(b)=(2,b)$ for $b\in Y$. Let Z be a set and $f:X\to Z$ and $g:Y\to Z$. Show that there is a unique function $h:X\uplus Y\to Z$ such that $h\circ inj_1=f$ and $h\circ inj_2=g$.

$$\begin{array}{c|c} X \uplus Y \\ & inj_1 \\ X \\ & \downarrow \\ X \\ & \downarrow \\ \\ & \downarrow \\ & \downarrow \\ \\ & \downarrow \\ & \downarrow$$

then k=h

En because toinj=f=hoinj

Y=h because koinj=f=hoinj

=> u=v

Y=h because koinj=g=hoinj

N=hoinj=voinj

Exercise 4.8 Use lambda notation to describe bijections
$$\frac{[(A \times B) - C] \cong [A - (B - C)]}{[A - (B - C)]} \cong [B - (A - C)].$$

$$A \longrightarrow B \longrightarrow C$$

Exercise 4.9 Describe explicit bijections

$$[(A \uplus B) \to C] \cong (A \to C) \times (B \to C),$$
$$[A \to (B \times C)] \cong (A \to B) \times (A \to C).$$